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Instructions :

i)

This question paper is divided into three
parts, A, Band C.

ii} First question of each part is multiple
choice type. Four alternative answers are
given in each. Select the correct answer and
write down in your answer-book.

iii) Attempt all the questions of each part
together at one place. Each part should be
attempted on a new page.

iv) All questions are compulsory.

v) Marks of the questions are mentioned
against them. '

vi) [lustrate your answers with neat and
labelled diagrams ang chemical equations
wherever necessary.
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The unit of radius of curvature is
1) metre 7 cm
i) mm iv) all of these. 1

An optical ray passes from one
transparent medium to another
transparent medium. The angle of
refraction will be more in comparison
to the angle of incidence if the ray
passes from a

3" denser medium to the rarer
medium

i) rarer medium to the denser
medium

iii) along the common surface of
denser and rarer medium

iv) both medium are the same. 1

A piece of wire of resistance R is cut
into four equal parts. These parts are
then joined in parallel. If equivalent
resistance of the combination is R,

then ratio R’ /R is

) 1 ii) 4
iﬁ)/ 16 iv) L 1
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Electric current is mecasured by
i) Volumetre

iij Ammeter

iii) Galvanometer

w} Energy meter.

1
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LEEIE 2
What are the laws of reflection of light ?
Explain , them with a proper ray
diagram, https://www.upboardonline.com 2
A convex mirror with its radius of
curvature 2 metre is attached to the
handle of a motor-bike. The driver
watches through the mirror another
person on another motor-bike following
behind him. Calculate the position of
the image seen through the mirror
when the second bike is at 4 metre
behind him. )
How, a convex lens is used as a
magnifying lens ? Explain with the help
of a ray diagram. 2
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Given three resistances of values 2 Q,

3Qand6 Q. What combination shall

be used to give th
€ resultant resi
of the value of €81stance

) 45007
i 1-0Q2?

OR !
On which factors electrical resistance
of a conductor depend ? Explain 4
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b) A person suffering Irm:,HSU Cf‘:l:]'
sightedness, can read at eteln]s 50 o
distant objects. Calculate the

and focal length of the lgnsmlfﬁcrlc:g
correct his vision 80 that ne y

25 cm distant objects. Explain with rai
diagraim.

Show the refraction
a prism. Show the

le of refraction, : [
gnng imglc of deviation with the help o‘{
diagram. )

freq foge oitgy ® R =109, R,=R;=20Q
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In the given electrical circuit the values of
nces are as following : R, =10Q,
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the resista
R2=R3 =20Q,R, =R5 =R, = 30Q
R, R
R, ' B
A v

< (A1l e O—<—
Ammeter Battery Key
The circuit is connected with a battery of
12 volts. Calculate the total resistance in
the circuit and the total current through the
battery. 7
OR
What is the working principle of the electric
motor ? Explain its working with the help of

a labelled diagram. 7
g - @
PART - B
) S S T g
i) NaOH
i} NaHCO,
ii) Na,CO.,. 10H20
iv) (25110(312 ‘ .
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991 pH 9= g
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i) 8 iv) 10. 1
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jiiij) CH;—C-H

(IJ

ivj H— (J,‘— OH : 1
a) The chemical formula of washing soda

18

i} NaOH

i) NaHCO,

it} Na,CO,.10H,0

iv) CaOCl, 1
b) A solution turns blue litmus to red. Its

pH value will be

i) 6 i) 7

iii) 8 w 10. 1
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Which organic compound of the
following, contains Ketonic group ?

,éﬂ CH:;“C"CHS
ijiy CH;—C—-H

iv)] H— 8— OH 1
I TN ATRA ® T QER
a-ﬂﬁQ'I 1+1
TR 3% IR w1 g fefan) el Rraw
*] W H)- 2 | 1+1
Fad Aol F et wor wt F g %
R F FO: T WA AT E 2 1+ 1
Explain oxidation and reduction with
examples. 1+1
Write the formula of Plaster of Paris.
How will you obtain Gypsum from it ?
1+1
How does the size of atoms vary across
the period and group of the periodic
table ? . 1+1

wifes s awr wdlem ® IUPAC W
%f@m 1+1
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@) s sfvtemsl & ddfem vamtes
m ﬁ_ff@q :
i) Hioxrm wregrames +
FTT RIS -
Ffoggn wEHe + I
ii) Fr + faem e
forer Amgee + fae 1+1

a) Write JUPAC names of aceti¢ acid and
acetone. 1+1

b) Write the balanced chemical equations
of the following reactions :

i) Calcium hydroxide +
Carbon dioxide —

Calcium carbonate + Water.

ii) Zinc + Silver nitrate =
Zinc nitrate + Silver. 141
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iv) tfus veRR @ anely K,Cr,0, & T
mEAE? 2

v) S Ueshlered Ufafesd amer & am sfafwn
FAE ? 2
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i) A A TwE whEn

i) Hwew arfafea

iii) HeoT|

What happens when — ( Write chemical

equation only ) '

i} Ethyl alcohol reacts with sodium '3' 1
i) Ethyl alcohol is heated with NaOH ? 1
i) Acetic acid reacts with sodium

hydroxide ? .1
iv) Ethyl alcohol is heated with acidic
KQCrQO.‘, ? 2

v}  Ethyl alcohol reacts with acetic acid ? 2
OR
Write short notes on the following :
3+2+2
i}  Cleaning action of soap
i) Addition reaction
ii)) Corrosion.
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Which one of the following is known as
‘Energy coin’ ?

i)y A.D.P.

i) ATP

iiij) A.M.P.

iv) Pyruvic acid. 1
Which one of the following occurs only
in animals ?

i)  Respiration

it} Nervous system

iiij Hormone

iv) Growth. 1
In which of the following plants Mendel

performed his experiment ?
i} Pea ii) Gram
ilij Hibiscus iv) Rhizopus.

Which one of the following layers
prevents the ultraviolet rays to reach

on earth ?
i} Chlorine layer

4]  Ozone layer

ii)  Oxygen layer
iv) Hydrogen layer.

1

10. %) TR S@er ¥ A0 T ogwER ¥ ) we
iy 1+1
g) T W6 R ue feumht fefg

) meﬁmﬁawj

95751

O®®H

https://www.upboardonline.com

2
2



10. a)

b)

11. &)

q)

11. a)

b)

95751

15 824(BN)

What do you understand by food

chain ? Explain. 1+1

Comment upon reproductive health.
2

Draw a well labelled diagram of an
anther. 2

W(Hﬁqq}awqﬁﬁﬁml

2+ 2
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CEIH 4
Differentiate between regeneration and
budding. 2+2
OR
Described the sex determining
mechanism in human beings. 4
Describe the family planning methods.
4
OR
Draw a labelled diagram of alimentary
canal of human. 4
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12. 3 1 Ui O §U UF FIRI] Y TR
&1 quiA FHIfAT | 7

| gqar
Ugel & amTia & i %t sme Fifg 7
12. Define excretion and describe the structure
of a nephron. 7

OR
Describe the Mendel's laws of inheritance. 7
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